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. Please check that this question paper contains 11 printed pages.

o Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

. Please check that this question paper contains 31 questions.
. Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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() Gt 3eT SRR E |
(i) FFIHT-YTH 31 F97 8 51 R @USI — 3, &, T AN ¢ H a9 & /1
(iii) TS 37 T TH-Ub 3 T4 Jo7 8 | GV T 4 6 397 & 978 @ J 2 375 #71 3 |
GUE F 7 10 557 di7-d17 371 & & | Gve § 7 11 J97 & 578 @ FA% 4 375 FT & |
(iv) SATPAR] B FIIT B IFAT TET 8 |

General Instructions :
(i)  All questions are compulsory.

(ii)  This question paper consists of 31 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 4 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each and Section D

contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

gueg - A
SECTION - A

9 G 1 9 4 ok Tk e 1 b H1 2 |

Question numbers 1 to 4 carry 1 mark each.

1. 3 el 30 it 3= rar 6 fem 3 Fereft T ey W et B 6 e 1043 M R, A1 3w
T g 1 I+ DIV 1T HIATC |

The shadow of a 30 m high tower on the ground at some time of the day is 10 \/§ m

long. Find the angle of elevation of the sun at that time.

2. JfeUh EHIR IS —1,4,9, 14, ... T ndlf 9e 129 B, d1 n =hT HH T4 ShIfTT |

If the n'? term of the A.P. —1,4,9, 14, ...... 1s 129, find the value of n.

30/1 2
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3. 3THMd 1§ O I & 5 &, PQ I hl T Sfia g a1 PT I i fog P W omi-w@n 2 |
Ife £ POQ=70° ¢, d@l £ TPQ JTd I |

(3rpfet - 1)

In Fig. 1, O is the centre of the circle, PQ is a chord and PT is tangent to the circle at P.
If £ POQ =70°, find £ TPQ.

(Fig. - 1)
4. e d it firess T 919 3o T &, d1 @ a3t shi TTRiekdT ST it |

If three different coins are tossed together, then find the probability of getting two heads.

qUg -
SECTION - B

9 G159 10 T Tcoh 99 2 371 I & |

Question numbers 5 to 10 carry 2 marks each.

5. qrd I fp k o form I o foru feama wefeRtor 242 + kx + 8 = 0 % ol 99H & |

Find the value of k for which the roots of the quadratic equation 2x? + kx + 8 = 0 will

have equal value.
30/1 3 [P.T.O.

Nurturing Success of Every Child https://deekshalearning.com



( .
@Deeksha
6. I8 HHTA I F1d hifoe foreepT iU 9e S qan dqai 1e 9 8 |

Determine the AP whose third term is 5 and the seventh term is 9.

7. 3ATEid 2 H O I 1 o5 & 94T LN T =19 2 | I I o foig K W PQ Toh TeI-{@T &
qT £ KLN =30° 2, a1 £ PKL 9Td i |

In Fig. 2, O is the centre of the circle and LN is a diameter. If PQ is a tangent to the
circle at K and £ KLN = 30°, find £ PKL.

(Fig. - 2)
8. Afg g (x, y) g3t (a + b, b — a) M (a — b, a + b) ¥ THGEY 7 a1 fag FfT 6

bx = ay.
If the point (x, y) is equidistant from the points (a + b, b — a) and (a — b, a + b), prove
that bx = ay.

9. TUH s ABC, T@eht &wet 84 ot Tt €, % 3TA:ga h BT 4 TH 2 W I QA
T@IEEl AP T BP I Semgan, T8 s AB Tt faig P gr fawnfa 2t 2, 6 Tt @
8 T & | ST AC d2T BC i oiaTga 317d Hifore | (gRaw 3mmehfi 3).
A

30/1 4
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In Fig. 3, the radius of incircle of AABC of area 84 cm? is 4 cm and the lengths of the
segments AP and BP into which side AB is divided by the point of contact P are 6 cm
and 8 cm. Find the lengths of the sides AC and BC.

(Fig. - 3)
10.  3fg foigati A(2, 1) T B(5, —8) ! T aTer {@rae fogatl P aen Q W SHiIad gl
2, a1 P % fcwmes 3 hifse |

If the line segment joining the points A(2, 1) and B(5, —8) is trisected at the points P and

Q, find the coordinates of P.

e -¥q
SECTION - C

T HE&AT 11 § 20 T T I 3 3H HI 1 |
Question numbers 11 to 20 carry 3 marks each.

11.  n < forg 9 o foTu < o gifeat 63, 65, 67, ... 941 3, 10, 17, ... < nd 9 GHH 817 ?

For what value of n are the n' terms of two A.P.’s 63, 65, 67, ... and 3, 10, 17, ... equal ?

12.  9ff < U foig & T 20 Hl S wa o Rrgt W ft §aR 917 o aa 31 e o 3=
HIUT SR 45° FHR 60° 8 | HAR hl Harg 71 IR |

From a point on the ground, the angles of elevation of the bottom and top of a
transmission tower fixed on the top of a 20 m high building are 45° and 60° respectively.

Find the height of the tower.

30/1 5 [P.T.O.
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13. Ueh 39 o, formeht =g § Ot ot B 6 ot 7, § 9 3 Sers qun 36t e &
T YHATHR WA HIC 70 T 8 | I o< 3 61 $o T8I &% A1d hIT |
(n=3.14 <o)

From a solid cylinder whose height is 8 cm and radius 6 cm, a conical cavity of same
height and same base radius is hollowed out. Find the total surface area of the remaining

solid. (Take = 3.14)

14. T AR 1 U GHETE S % AR 8§ Higd W a8 121/3 912 1 erher Bt B | Ife
I} TR I IATRR § TIST AT 1 37 GRT B ST AT &%l [T I |(n=%?ﬂﬁﬁ)

A wire when bent in the form of an equilateral triangle encloses an area of 121\/5 cm?.

22
If the wire is bent in the form of a circle, find the area enclosed by the circle (use &= 7).

15. 39 By, es 3wt & Fe@me (0, 1), (2, 1) AT (0, 3) &, 1 Yo o HeA fogati i
Toretm areft g &1 Smwe 31 hifsTe |

Find the area of the triangle formed by joining the mid-points of the sides of a triangle,

whose coordinates of vertices are (0, —1), (2, 1) and (0, 3).

16. 144 STCUAT < Tsh T | 20 Siclud T & | U6 I8 Sicrud Ger S 37<8T 8, Wy
TS S T8 @G | GHMER 37 SieuHl H 8 ATgosdl Hebldt . T U UTEeh i odl
2 | 38! R wiRreRan 2 T
(i) FTeh SieTo TeT
(i) e et T e

A lot consists of 144 ball pens of which 20 are defective. The customer will buy a ball

pen if it is good, but will not buy a defective ball pen. The shopkeeper draws one pen

at random from the lot and gives it to the customer. What is the probability that
(1)  customer will buy the ball pen

(i) customer will not buy the ball pen

30/1 6
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17. 67, =t 3% 1.5 o 718l wsh T H ar 10 fopft. sfq s R e asg wi e 1 30 e i a8
T ferda &mrthet <h1 =g ot araht, Srefer fomms o fore 8 At e art <hi srrerweshar & 7

Water in a canal 6 m wide and 1.5 m deep, is flowing with a speed of 10 km/h. How
much area will it irrigate in 30 minutes, if 8 cm of standing water is needed for

irrigation ?

18. 3Th{d 4 § ABCD U 9Heis g (998 AB || DC 8 @91 £ BCD = 30° & | BGEC T 3q,
et &g C 2, 1 & Bsu@s § | e AB = BC = 7 ¥} 921 DE = 4 &} § qen

BF = 3.5 9} 2, 1 SRI1(ehd &5 ol S%eT FTd ShifoT | (n=%?’ﬁﬁlﬁ)

A B

|
1
15,
I 3,

N

I
I
L

D E F

(3Teper - 4)

In Fig. 4, ABCD is a trapezium with AB || DC and ZBCD = 30°. If BGEC is a sector

of a circle with centre C and AB = BC =7 cm, DE = 4 cm and BF = 3.5 cm, then find

22
the area of the shaded region (use = = ).

A B

35
cm
L
D E F C
(Fig. - 4)
19. x AU EA ARIT A2 22+ 7x+54/2=0
Solve forx : \[2x2+ 7x + 5/2 =0
30/1 7 [P.T.O.
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20. THYTA F TIehetm & Hedmr o foTt 99 Th g 1 10 321 o fo1d (S79®) o o1 fomR

ToraT | Ik e ITephaTeRR B ek 3R o1 = 14w qen g 24 W R | Afe g A =i
T T Ted T 40 T ot B, o THITS GRT g b1 Tohert T | g <l g 7

Rampal decided to donate canvas for 10 tents, conical in shape with base diameter
14 m and height 24 m to a centre for handicapped persons’ welfare. If the cost of 2 m

wide canvas is X 40 per metre, find the amount by which Rampal helped the centre.

g -

SECTION -D

9T G121 Y 31 0% Tk 9 4 3H hI1 8 |

Question numbers 21 to 31 carry 4 marks each.

1 2 6
21, xhfaUE NG : —+—7=",x+0,1,2

X

1 2
Solve for x : +
52 —")

(o)

=_ux=0,1,2

[S—
=

=

22. AdUIBic s wm Al 6fea i anmdd | AT sH A FE A B A 5 fea=m
AT R, 1 B 37ehell 3H 18 o1 Tl fedl | s 7

A and B working together can do a work in 6 days. If A takes 5 days less than B to

finish the work, in how many days B alone can do the work ?

23. U U HE, SEeHT ndll 9§ a_ = 3 + 2n R A1 711 &, o HUW 24 9G] 1 ANTHA A
HT |

Find the sum of first 24 terms of an A.P. whose n' term is given by a,=3+2n.

30/1 8
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24. Tog Fifom T g & foreft foig =t 78 omi-, vt foig & e ST areft s =
SEAGIES

Prove that the tangent drawn at any point of a circle is perpendicular to the radius

through the point of contact.

25. U Hufgarg S ABC &1 w1 hife freeh 3meam BC &t &aTg 8 |t a1 38 A |
i T Sfives AD i @E1 4 9 7 | R T o B i e it feshl e

. . 2 .
A ABC 1 &I YS{1371 %1 7 W% |
Draw an isosceles triangle ABC in which the base BC is 8 cm long and its altitude AD

2
through A is 4 cm long. Then draw another triangle whose sides are gof the

corresponding sides of A ABC.

26. FTHi 5 H, 5 Wt Brsan o o <l Tk 8 {fl offt Sfte PQ & | P 3R Q W W= wrwi-t@nd
TER foig T 0 9l=eq il 2 | TP ol TS 14 shitT |

/

(3Tpfct - 5)

In Fig. 5, PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents drawn

at P and Q intersect at T. Find the length of TP.

/

(Fig. - 5)

0)

N4

0)

N4
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27. |fH % T f6g P 8 T 10 Hl S wad & RrEw 71 36 3 W $9 g | A
RfeTeh X o I=T <hITT SHAIT: 30° TAT 60° & | Y & BfcTehieet hl ams AT ST |

From a point P on the ground, the angles of elevation of the top of a 10 m tall building
and a helicopter, hovering at some height vertically over the top the building are 30°

and 60° respectively. Find the height of the helicopter above the ground.

28. 52 U<l I AT H T H A ATA TT o AT qAT AMGIME 3T HTed TT I S70 qAT 3o+b
et fed Id € | 99 ual o 3Tt YR 8 et Agesel s ua ek ST g |
TR ST shiTTg, foh fepTetT e et

() TR |

(i) TH AT T HIUATE |

(iii) STl TT T TAM R |

(iv) T TR AT IR |

From a pack of 52 playing cards, Jacks and Kings of red colour and Queens and Aces

of black colour are removed. The remaining cards are mixed and a card is drawn at

random. Find the probability that the drawn card is
(1) ablack Queen

(i) acard of red colour

(ii1) a Jack of black colour

(iv) aface card

29. afe g1 fergati & TG A(3, 4), B(5, —2) 8 01 T 31 [6g P (v, 5) 39 TR & T PA =
PB 2, A A PAB T &%l JTd <hifolT |
If the coordinates of two points are A(3, 4), B(5, —2), and a point P (x, 5) is such that
PA = PB then find the area of A PAB.

30/1 10
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30. 12 Tt =18 AT 15 Tt 4TS o 9T o Ueh 319 ot ol {UeetTet 3 Raeiiv sH1T 9Td &
S 3 Tt Prsem 9Tt Wi % SRR % 7 qen TRl SHamg 9 aft 7, A 39 TR S ATt
Raeit 6t T 7 i |
A solid metallic cylinder of diameter 12 cm and height 15 cm is melted and recast into

toys each in the shape of a cone of radius 3 cm and height 9 cm. Find the number of

toys so formed.

31. U SIcel W o (B1eh b SRR 1 & [l HaTs 42 HH1 B qo1 g Rl 61 Breamd
30 5eft @ 10 9t € | 91 SHIT Fop 59 et § fepan et g T @en R 40 Wi wftet
o TG § s W fohat Tf¥r firert |
FTQ Y ST ST g ol &9 | HHSIT 7 o AN bl ¥ HIS T S=dT 2, Al THT i |
g fha g sl quniaT 8 7
A bucket, is in the form of frustum of a cone whose height is 42 cm and the radii of its
circular ends are 30 cm and 10 cm. Find the amount of milk (in litres) which this
bucket can hold. If the milkman sells the milk at the rate of ¥ 40 per litre, what amount
he will get from the sale ?

If the milkman sells half the milk at less rate to the economically weaker section of

society, what value he exhibits by doing this ?
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